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Cuadro 17 (continuación 5)/Table 17 (continued 5)
Paraguay: tablas abreviadas de mortalidada

Paraguay: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.044 0.042  100 000  4 238  96 458 0.954 b 6 796 714 68.0
1 4 0.002 0.010  95 762   936  380 737 0.992 c 6 700 256 70.0
5 5 0.001 0.004  94 826   374  473 195 0.996 6 319 519 66.6

10 5 0.001 0.003  94 452   311  471 483 0.994 5 846 324 61.9
15 5 0.002 0.008  94 141   799  468 706 0.989 5 374 841 57.1
20 5 0.003 0.013  93 342  1 241  463 606 0.985 4 906 135 52.6
25 5 0.003 0.016  92 101  1 458  456 858 0.985 4 442 529 48.2
30 5 0.003 0.015  90 642  1 326  449 898 0.984 3 985 671 44.0
35 5 0.003 0.016  89 317  1 469  442 911 0.982 3 535 773 39.6
40 5 0.004 0.020  87 848  1 726  434 923 0.976 3 092 862 35.2
45 5 0.006 0.029  86 122  2 515  424 322 0.965 2 657 939 30.9
50 5 0.008 0.040  83 607  3 380  409 585 0.953 2 233 617 26.7
55 5 0.011 0.055  80 227  4 379  390 188 0.928 1 824 032 22.7
60 5 0.019 0.089  75 848  6 786  362 276 0.893 1 433 844 18.9
65 5 0.027 0.127  69 062  8 765  323 398 0.845 1 071 568 15.5
70 5 0.041 0.187  60 297  11 302  273 229 0.786  748 169 12.4
75 5 0.056 0.246  48 995  12 066  214 808 0.678  474 940 9.7
80 5 0.108 0.423  36 929  15 613  145 609 0.522  260 133 7.0
85 5 0.165 0.574  21 315  12 234  75 991 0.386  114 523 5.4
90 5 0.235 0.707  9 081  6 424  29 347 0.270  38 532 4.2
95 5 0.312 0.809  2 657  2 150  7 913 0.139 d  9 186 3.5

100 ω 0.399 1.000   508   508  1 272  1 272 2.5
Mujeres/Females

0 1 0.033 0.032  100 000  3 209  97 276 0.965 b 7 234 708 72.3
1 4 0.002 0.007  96 791   706  385 377 0.994 c 7 137 432 73.7
5 5 0.001 0.004  96 085   341  479 575 0.997 6 752 055 70.3

10 5 0.001 0.003  95 745   256  478 084 0.996 6 272 480 65.5
15 5 0.001 0.005  95 489   481  476 242 0.994 5 794 396 60.7
20 5 0.001 0.007  95 008   665  473 376 0.992 5 318 154 56.0
25 5 0.002 0.009  94 343   808  469 692 0.991 4 844 778 51.4
30 5 0.002 0.010  93 534   924  465 362 0.989 4 375 086 46.8
35 5 0.002 0.012  92 610  1 121  460 248 0.987 3 909 724 42.2
40 5 0.003 0.015  91 489  1 358  454 049 0.982 3 449 476 37.7
45 5 0.004 0.021  90 131  1 888  445 934 0.974 2 995 426 33.2
50 5 0.006 0.032  88 243  2 815  434 177 0.961 2 549 492 28.9
55 5 0.009 0.046  85 428  3 915  417 353 0.944 2 115 315 24.8
60 5 0.014 0.066  81 513  5 392  394 086 0.918 1 697 962 20.8
65 5 0.021 0.099  76 121  7 566  361 691 0.882 1 303 877 17.1
70 5 0.030 0.138  68 555  9 487  319 059 0.830  942 185 13.7
75 5 0.046 0.208  59 068  12 261  264 688 0.719  623 127 10.5
80 5 0.092 0.373  46 807  17 460  190 386 0.565  358 438 7.7
85 5 0.148 0.534  29 347  15 665  107 573 0.419  168 052 5.7
90 5 0.219 0.682  13 682  9 326  45 097 0.291  60 479 4.4
95 5 0.300 0.796  4 357  3 467  13 116 0.147 d  15 382 3.5

100 ω 0.393 1.000   890   890  2 266  2 266 2.5

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


